==
N = 0 A Ab 3 N A
S0 A LdBSIH RIIs A
Il s At
ol ZMe Ll
SREEE
- _ _ RE]
HE .G (3 H) - HEAY - B S ol &k o8 %@ﬁ
ni: 15,985,329 110,199,334
= 90,409,740
Xl 12,320,800
Jl 311,800
= 12,942,989
s Z¥HE L3 15,937,120 110,138,017
= 90,409,740
Xl 12,320,800
Dl 311,800
c 12,894,780
Al =2sd 71,236,450 68,096,090
= 63,688,100
J| 311,800
o= 7,236,550
MASEEE SR 43,487,100 43,487,100
= 43,487,100
308 MXISHHMSOIA 43,487,100 43,487,100
= 43,487,100
01 AIXSHMENEXZ 43,487,100 43,487,100
MAEEHXE AN 43,487,100
= 43,487,100
ASENAZM AFY 22l H] 311,800 311,800
J| 311,800
201 Yet2 | 5,000 5,000
J| 5,000
01 AP 22| H| 5,000 5,000
OMASEEBEAEMN XS 5,000
J| 5,000
202 o4l 10,000 10,000
J| 10,000
01 2L Hl 10,000 10,000
OMASBEINEMN SXXE 10,000
J| 10,000
308 XX SHHSOIH 296,800 296,800
J| 296,800
01 AIXSHMEMNEX= 296,800 296,800
OMASEXIAEM AFE 22l ] 296,800
J| 296,800
gsHA 2 14,445,000 11,700,000
= 14,445,000
308 XX G SOl A 14,445,000 11,700,000
= 14,445,000
01 AIXSHMEMNEX= 14,445,000 11,700,000
Ogt=gx=EH 14,445,000




2A: SIlsaD
B =9 M L
chelr APR2SY (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
| = 14,445,000
gEsHI=H 22| 233,000 120,000 113,000
= 233,000
201 Bt 8,000 3,000 5,000
= 8,000
01 At 22l bl 8,000 3,000 5,000
Odsgd=H XN 8,000
= 8,000
202 044 10,000 7,000 3,000
= 10,000
01 2L Y| 10,000 7,000 3,000
Og=sgdMEM EXXNE 10,000
= 10,000
308 XX SHHSOIH 215,000 110,000 105,000
= 215,000
01 AXHXNBMNEXZ 215,000 110,000 105,000
Og=sgAMEM AU 215,000
= 215,000
TAHE2IXNE A=A 3,010,000 3,010,000 0
= 2,800,000
[ 210,000
308 AXISHXMSOoIH 3,010,000 3,010,000 0
= 2,800,000
= 210,000
01 XHHNBIMNEXTS 3,010,000 3,010,000 0
OZXAHEAXNYGAEN ALY 3,010,000
= 2,800,000
o= 210,000
=S sk A& 2,200,000 2,615,580 N 415,580
308 XX SHAMSOIA 2,200,000 2,615,580 N415,580
01 IXHHIMNEXS 2,200,000 2,615,580 N415,580
O=sgdZs s XN 2,200,000
LS K& 829,650 1,083,560 A 253,910
308 XX SHHSOIH 829,650 1,083,560 N 253,910
01 AXHNBMNEXZ 829,650 1,083,560 AN 253,910
OH 2SI K& 829,650
el 28 X - 2 441,000 441,000 0
403 XX S S K201 A 441,000 441,000 0
01 AXHNMAHEE = 441,000 441,000 0
O 28 &X - 2 441,000
FAOI S 40| MAMEX 4 194,400 331,200 N 136,800




2AM: RI=s8H
HE: 59 FMY U
Sl AFNSSY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 194,400 331,200 A 136,800
01 HIXNHHBHNEELES 194,400 331,200 A 136,800
OFA0IS=0 Mo A 194,400
SEZ2N nsdLE NA 86,800 179,800 293,000
= 70,000
< 16,800
308 XXM SOIA 86,800 179,800 293,000
= 70,000
< 16,800
01 IXNSHHBMNEES 86,800 179,800 293,000
OSg8dgHd uszdL8 XA 86,800
= 70,000
< 16,800
SEIIH ALEH X2 620,000 0 620,000
= 500,000
= 120,000
403 A X EHHS =0l A 620,000 0 620,000
= 500,000
= 120,000
01 X EHHMA=LE L 620,000 0 620,000
OSSZIM ALEH X 620,000
= 500,000
< 120,000
SIIH LAY 2,340,000 1,300,000 1,040,000
= 1,800,000
= 540,000
403 XA SA=0l& 2,340,000 1,300,000 1,040,000
= 1,800,000
< 540,000
01 X SHMA=E X 2,340,000 1,300,000 1,040,000
OsJIA A 2,340,000
= 1,800,000
< 540,000
FAMXE sIO1H LUAS 130,000 0 130,000
= 100,000
< 30,000
403 MHXISHE X201 H 130,000 0 130,000
= 100,000
< 30,000
01 X SHHN2E = 130,000 0 130,000
OF4XE sIIH LUAS 130,000
= 100,000
= 30,000
HAzaE sIIH LAY 162,500 0 162,500
= 125,000




2AM: RI=s8H
HE: 59 FMY U
Sl AURESSY CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 37,500
403 MtXISHHSA=0l& 162,500 0 162,500
= 125,000
< 37,500
01 XM A=2E X 162,500 0 162,500
ONWEEsd sIIH SHAY 162,500
= 125,000
< 37,500
sZIIAH SatEFX 23 XA 185,600 0 185,600
= 128,000
< 57,600
308 XtXIEHH SOl A 185,600 0 185,600
= 128,000
< 57,600
01 AXHHBIYEES 185,600 0 185,600
SEIH SSEX 2 N 185,600
= 128,000
= 57,600
dsJlHs ZH 2= 300,000 300,000 0
403 A X EHHSH20IA 300,000 300,000 0
01 X SHMA=LE L 300,000 300,000 0
Og=sJlHs HH 2= 300,000
sS4 e MUlAdEH 29 A& 270,000 270,000 0
308 XX EHHSOIA 270,000 270,000 0
01 HIXNHHBNEES 270,000 270,000 0
O=&g e MulAadH 29 K& 270,000
el sAHMHAaEI 2= A& 50,000 94,500 A 44 500
403 MRS E X201 E 50,000 94,500 A 44 500
01 XM A=2EE 50,000 94,500 A 44 500
Ozad sAiazl 25 N 50,000
sJH Eg28 N 112,000 112,000 0
308 MtXIEHMSOIH 112,000 112,000 0
01 AXHHILEES 112,000 112,000 0
OsJIH S&28 X& 112,000
s&=2 MHol2&8 K& 1,115,000 588,750 526,250
308 A EHHSOIA 1,115,000 588, 750 526,250
01 HXNHHNBHEELS 1,115,000 588,750 526,250
O=s%2 Mol XI& 1,115,000
S&HY etHMALE FHl X 72,000 90,000 A 18,000
308 XXM SO A 72,000 90,000 A 18,000
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2AM: RI=s8H
B =9 M L
ool AHASASY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
gdsg=sd 24,843,420 21,688,177 3,155,243
= 20,310,640
X 304,800
< 4,227,980
HEtdsg =M 1,234,000 1,257,000 A 23,000
= 1,234,000
308 AHAIEHHSOIA 1,234,000 1,257,000 A 23,000
= 1,234,000
01 AXSHBLELS 1,234,000 1,257,000 A 23,000
OzZsLA=A 1,234,000
= 1,234,000
JEd=sgY JIgR= 457,200 0 457,200
Xl 304,800
< 152,400
403 UtXISHH S =0l & 457,200 0 457,200
Xl 304,800
< 152,400
01 XM A2E X 457,200 0 457,200
OzgI=sg Jigt=s 457,200
Xl 304,800
< 152,400
#II&8dlg XN 10,839,000 11,153,000 A 314,000
= 10,839,000
308 XXIEHH SOl A 10,839,000 11,153,000 A 314,000
= 10,839,000
01 AXNHHBANEES 10,839,000 11,153,000 A 314,000
sIJ12dlg XA 10,839,000
= 10,839,000
EUNSH 25 4,033,420 4,615,857 A 582,437
= 3,321,640
< 711,780
308 MtXIEHSOIH 4,033,420 4,615,857 A 5B2,437
= 3,321,640
< 711,780
01 AXSHBLAEES 4,033,420 4,615,857 N bBB2,437
OELMEH B= 4,033,420
= 3,321,640
< 711,780
FI=sSUM XA 168,200 97,730 70,470
= 116,000
< 52,200
308 XXM SO A 168,200 97,730 70,470
= 116,000
< 52,200
01 IXNSHHBNEES 168,200 97,730 70,470




2AM: RI=s8H
HE: 59 FMY U
ool AEIsYSH (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORIIsgAM XA 168,200
= 116,000
< 52,200
dEd 40l s N2 200,000 252,000 252,000
308 XXM SOIA 200,000 252,000 252,000
01 XML EES 200,000 252,000 252,000
Oz &d 20| B8 N2 (& M8 F
Z= X&) 200,000
mIls4tE Mok XA 493,000 600,000 A 107,000
403 XSS A0l & 493,000 600,000 A 107,000
01 HXSHMA2E X 493,000 600,000 A 107,000
ORJIsLtE Mak X 493,000
JEFdsiE AE5=sI |4 240,040 240,040 0
308 XXM SOIA 240,040 240,040 0
01 AXHHBIYEES 240,040 240,040 0
Ozlagdsdzs st |54 240,040
)= 2K B3 9,360 9,360 0
308 XtXIEHH SOl A 9,360 9,360 0
01 HXNHHBHEELS 9,360 9,360 0
ORJl=sg d2J=X E2 9,360
RS dEdsy sS4 147,000 210,000 A 63,000
403 UHXSHHSA=0l& 147,000 210,000 A 63,000
01 X SHMA=E X 147,000 210,000 A 63,000
OgANMIS dad=sg s4 147,000
HeEdsits EEMS A 5,000 5,000 0
201 L4l 5,000 5,000 0
03 &AL2 Z I 5,000 5,000 0
OzgZdsds HEMEHA 5,000
5 dE83R/Is FEXN MEH X 8,000 8,000 0
307 21201 A 8,000 8,000 0
02 QIAFLANGFEX 8,000 8,000 0
Os=s d&EdRIIs 22X M X 8,000
?I)ls S92 gEs &0t 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZHHALALSE 2 X 25,000 25,000 0
ORJls A3 &It 25,000
dtdsgel u=s 9,000 19,000 A 10,000
307 glz2tol & 9,000 9,000 0




2N

HE: 59 FMY U
ool AEIsYSH (29l & 2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 9,000 9,000 0
OFRsAsY DS 9,000
sl dAL XA 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
Oz adsgel A X& 20,000
Rlls 25 =HE A% s & 31,200 31,200 0
308 XX EHH SOl A 31,200 31,200 0
01 AXHHILEES 31,200 31,200 0
ORJls s &UE RAS WE XL 31,200
RIls 2= Mih=sI1 32X H| 570,000 570,000 0
308 A EHHSOIA 570,000 570,000 0
01 HXNHHNBHEELES 570,000 570,000 0
Flls 2= Mtisot #328H| 570,000
RIIs4E =SS AMHA SR 24 6,240,000 1,300,000 4,940,000
= 4,800,000
< 1,440,000
403 MtXISHH S0l & 6,240,000 1,300,000 4,940,000
= 4,800,000
< 1,440,000
01 X SHMA2EE 6,240,000 1,300,000 4,940,000
ORJIsttd S8 AMElA X =4 6,240,000
= 4,800,000
< 1,440,000
SIS AE ASHE X 14,000 0 14,000
308 XX EHH SOl A 14,000 0 14,000
01 AXHHILEES 14,000 0 14,000
ORJIIIEBAE sHE XE 14,000
IS 428 2 N& 100,000 0 100,000
308 MtXIEHMSO0IH 100,000 0 100,000
01 HXNHHNBHELS 100,000 0 100,000
FIJISLH 428 22 XA 100,000
SsHMADIBEE S 19,857,250 20,353,750 A 496,500
= 6,411,000
Xl 12,016,000
< 1,430,250
BH == JH & AL 5,321,000 4,441,000 880,000
= 5,321,000
402 RI2HX=01 M 5,321,000 4,441,000 880,000
= 5,321,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

02 QI EASEZ (OIS ) 5,321,000 0 5,321,000
Ot &AL 5,321,000
= 5,321,000

St UHIE 2 ALY 1,226,250 1,226,250 0
= 1,090,000
< 136,250

403 MtXISHE X201 E 1,226,250 1,226,250 0
= 1,090,000
< 136,250

01 XM A2 1,226,250 1,226,250 0
OstLHHI S+ At 1,226,250
= 1,090,000
< 136,250

&It ALY 1,891,000 3,785,500 A 1,894,500
Xl 1,681,000
< 210,000

403 A X EHHS 20l A 1,891,000 3,785,500 A 1,894,500
Xl 1,681,000
< 210,000

01 X EHHMA=LE L 1,891,000 3,785,500 A 1,894,500
OIIEHEHI ALY 1,891,000
Xl 1,681,000
< 210,000

=2 XZel A 2,646,000 5,386,500 A 2,740,500
Xl 2,352,000
< 294,000

403 XSS =0l & 2,646,000 5,386,500 A 2,740,500
Xl 2,352,000
< 294,000

01 XM A2E X 2,646,000 5,386,500 A 2,740,500
OUTEZXNNFelAY 2,646,000
Xl 2,352,000
< 294,000

NZ 42l Al &2 4 At 7,005,000 5,002,500 2,002,500
Xl 6,227,000
< 778,000

403 XIS E X201 H 7,005,000 5,002,500 2,002,500
Xl 6,227,000
< 778,000

01 XXM 22 = 7,005,000 5,002,500 2,002,500
OAZ =l A Z8HE = AL 7,005,000
Xl 6,227,000
< 778,000

NE=SZ LAY 448,000 0 448,000
X 448,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 448,000 0 448,000
X 448,000
01 HXHMA=LE X 448,000 0 448,000
OXNESLMLAS 448,000
Xl 448,000
A2AZEFIHEAMY 1,308,000 0 1,308,000
Xl 1,308,000
403 XSS A0l & 1,308,000 0 1,308,000
Xl 1,308,000
01 XM A=2EE 1,308,000 0 1,308,000
OAREEFIHE ALY 1,308,000
Xl 1,308,000
SSMADIBEAIAE ALY 22l 12,000 12,000 0
202 44l 12,000 12,000 0
01 SLHOIYI 12,000 12,000 0
O ADIIBHAIE At 22l 12,000
Ed HZH (KRIl=s4HH) 48,209 61,317 A 13,108
2l 48,209 61,317 A 13,108
=24l 48,209 61,317 A 13,108
201 L4l 15,079 18,627 N 3,548
01 At 22l 15,079 18,627 N 3,548
OJl2+8Hl 6,154
OJl=s gl 8,925
202 Odl 32,130 39,690 AT,560
01 = LH 4 1 32,130 39,690 AT,560
OJIEul 32,130
405 TtabF S| 1,000 3,000 A 2,000
01 et EFSFHSHI 1,000 3,000 A 2,000
OgEtogly & 2AAMEI 2 1,000




